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໰୊ 1.

໰ 1. u1 ͔Β y ·Ͱͷ఻ୡؔ਺:
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໰୊ 1.

໰ 2. u ͔Β u1 ·Ͱͷ఻ୡؔ਺ C3(s):
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໰୊ 1.

໰ 3. प೾਺఻ୡؔ਺ C1(jω), C2(jω):

C1(jω) =
10

10jω + 1
, C2(jω) = 0.1jω + 1
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໰୊ 1.

໰ 4. प೾਺఻ୡؔ਺ C3(jω):
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໰୊ 1.

໰ 5. C(jω) = C1(jω)C2(jω)C3(jω) ͷήΠϯઢਤ:

20 log10 |C(jω)| = 20 log10 |C1(jω)|+ 20 log10 |C2(jω)|+ 20 log10 |C3(jω)|
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໰୊ 1.

໰ 5. C(jω) = C1(jω)C2(jω)C3(jω) ͷήΠϯઢਤ:

20 log10 |C(jω)| = 20 log10 |C1(jω)|+ 20 log10 |C2(jω)|+ 20 log10 |C3(jω)|
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໰୊ 1.

໰ 6. ω = 1 ͷͱ͖ 20 log10 |C(j1)| = 0 [dB]:

A1 = |C(j1)| = 1
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໰୊ 1.

໰ 7. ω = 30 ͷͱ͖ 20 log10 |C(j30)| = −20 [dB]:

A2 = |C(j30)| = 1
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໰୊ 2.

໰ 1.

L(s) = P (s)K(s) =
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໰୊ 2.

໰ 2. प೾਺఻ୡؔ਺ Gyr(jω):
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Ґ૬ઢਤͷં఺֯प೾਺:
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໰୊ 2.

໰ 3. ω = 10 [rad/s] ͷͱ͖ 20 log10 |Gyr(j10)| = 0 [dB]:

A1 = |Gyr(j10)| = 1

φ1 = ∠Gyr(j10) = −90 [deg]
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∗ ΊΔͱٻΑΓʹࢉܭ |Gyr(j10)| =
1

2

໰୊ 2.

໰ 3. ω = 30 [rad/s] ͷͱ͖ 20 log10 |C(j30)| = −20 [dB]:

A1 = |Gyr(j30)| =
1

10
= 0.1

φ1 = ∠Gyr(j30) = −150 [deg]
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໰୊ 3.

໰ 1. ӡಈํఔࣜ:

mÿ(t) = u(t)− c1ẏ(t)− c2ẏ(t)
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໰୊ 3.
໰ 2. ӡಈํఔࣜΛϥϓϥεม׵:

m(s2y(s)− sy(0)− ẏ(0)) = u(s)− c1(sy(s)− y(0))− c2(sy(s)− y(0))

ॳظ৚݅ y(0) = 0, ẏ(0) = 0:

m(s2y(s)− 0− 0) = u(s)− c1(sy(s)− 0)− c2(sy(s)− 0)

ms2y(s) = u(s)− c1sy(s)− c2sy(s)

఻ୡؔ਺:
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໰୊ 3.

໰ 3. ৼ෯ A1 ͸ ω = 1/2 ͷͱ͖ͷήΠϯ |P (jω)|:
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໰ 5. A2 = 10 ͸ ω =
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(A2 =)10 =
√
k Ͱ͋Δ͔Β, k = 100 ͱ͢Ε͹Α͍.


